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Sample Paper – 2009
Class – X

Subject – Mathematics
Time : 3 Hrs                                                                                                                         M.M. 80

 Note: The question  paper consists of 30 questions divided  into four sections –A, B, C and  D.
            Section  A  contains  10  questions of  1  mark  each, Section  B  is of  5 questions of  2  
            marks  each, Section  C  is of 10 questions of 3 marks each  and section  D is of  5     
            questions of 6 marks each. 


SECTION A
1. If  (, ( are the zeroes of the polynomial 4x2 + 3x + 7, then find the value of  1/( + 1/(.
2. Two persons state walking from the same point.  One person walks 40m towards North and another walks towards East.  If the distance between them now is 41m, then find the distance covered by the other person towards East.
3. In the adjoining figure, AD is altitude of                                                        A
triangle ABC in which AB=AC= 13cm.  
If AD= 5 cm, Find BC.

                                                                                                             13cm             13cm

                                                                                                                       5cm

                                                                                                            B          D         C

4. Find the H.C.F. of the numbers 34.112 and 32.115.

                                                                                                               B

5. In the adjoining figure, OACB is a quadrant 
of a circle of radius 7cm.  Find its perimeter.                                                       C
                                                                                                    7cm           

                                                                                                          O       7cm        A

6. In a frequency distribution the Mean is 9 and Median is 7, find its Mode.

7. If sec2( (1 + sin( )(1–sin() = k, then find the value of k.

8. A card is drawn from a pack of cards.  Find the probability that it is either a king or a ten of heart.
9. If 8 times the eighth term of an A.P. is equal to 7 times its seventh term, find its 15th term.

10. Change the following cumulative frequency table to simple frequency table.
	Marks
	Number of students

	Below 10
	5

	Below 20
	13

	Below 30
	19

	Below 40
	27

	Below 50
	30


SECTION B
11. Cards marked with different numbers 3,4,5,……….,50 are placed in a box and mixed  thoroughly.  One card is drawn at random from the box.  Find the probability that the number on the drawn card is 
(i)  divisible by 7                                     (ii)  a perfect square
12. The length of a line segment is (29 units.  One end is at (-3, 5) and the ordinate of the second end is 7.  Show that its abscissa is either 2 or –8.

OR

Show that the line segment joining the points (-5, 6) and (7, 2) and the points (-2, -4) and (4, 12) bisects each other.
13. Prove that

                                         sin( – 2sin3(


                                                        = tan(

                             2cos3(  -cos(  

14. Sides AB and BC and median AD of a  (ABC are respectively proportional to sides PQ and QR and median PM of (PQR.  Show that (ABC ( (PQR.
15. Use Euclid’s division lemma to show that the square of  any positive integer is either of the form 3m or 3m+1 for some integer m.

       SECTION C

16. Prove that 3+2(2 is an irrational number.
17. Construct a (ABC in which AB=6.5cm, (B=60( and BC = 5.5cm. Also construct a triangle AB’C’ similar to (ABC, whose each side is 3/2 times the corresponding side of the triangle (ABC.

18. Find all the zeroes of the polynomial 2x4 + 5x3 – 11x2 + 20x +12, If it is given that two of its zeroes are 2 and –2.

19. A cylindrical pipe has inner diameter of 4cm and water flows through it at the rate of 20m per minute.  How long would it take to fill a conical tank whose diameter of base is 80cm and depth 72 cm.
                                                                                                 T

20. In the adjoining figure, TP is a tangent and 

      PAB is a secant to the circle.  If the bisector

      of (ATB intersects AB at M, Show that

(i) (PMT= (PTM





                  

(ii)  PT=PM                            B       M         A             
          P

OR
The perpendicular AD on the BC of a triangle ABC intersects BC at D, so that DB=3CD.  Prove that 2AB2=2AC2+BC2.

21. Draw the graph of x – y + 1 = 0 and 3x + 2y – 12 = 0. Calculate the area bounded by these lines and x – axis.

22. Find the sum of all three digit numbers each of which leave the remainder 3 when divided by 5.

                   tan 20o    2             cot 20o      2
23.                         +                             +  2tan15o tan37o tan53o tan60o tan75o 

                 cosec70o                   sec70o
OR

       If tan( + sin(  = m and tan(  – sin( = n show that m2 – n2 = 4(mn.

24. The line-segment joining the points (3,-4) and (1,2) is trisected at the points P and Q.  If the coordinates of P and Q are (p,-2) and (5/3,q) respectively, find the values of p and q.

25. In the figure,  OPQR is a rhombus, there of whose                               Q
vertices lie on the circle with centre O.  If the area of                                              P

      the rhombus is 32(3 cm2, find the radius of the circle.           R                 S
                                                                                                                             O 

SECTION D
26. A tent is in the shape of a right circular cylinder up to a height 3m and conical above it.  The total height of the tent is 13.5m and radius of base is 14m.  Find the cost of cloth required to make the tent at the rate of Rs.80 per sqm.  Also find the capacity of the tent.

OR


From a solid cylinder of height 28cm and radius 12cm, a conical cavity of height 16cm and radius 12cm is drilled out.  Find (a) the volume (b) total surface area of remaining solid.
27. Prove that the ratio of the areas of two similar triangles is equal to the ratio of the squares any two corresponding sides. 

In a trapezium ABCD, ‘O’ is the point of intersection of AC and BD, AB((DC and AB = 2CD.  If the area of (AOB=84cm2, find the area of (COD.

28. Swati can row her boat at a speed of 5km/hr in still water.  If it takes 1 hour more to row the boat 5.25 km upstream than to return downstream.  Find the speed of stream.
OR

Two water taps together can fill a tank in 93/8 hrs.  The tap of larger diameter takes 10 hrs less than the smaller one to fill the tank separately.  Find the time in which each tap can separately fill the tank.
29. A 1.3m tall girl spots a balloon moving with the wind in a horizontal line at a height of 87.3m from the ground.  The angle of elevation of the balloon from the eyes of the girl is 60o.  After some time, the angle of elevation reduces to 30o.  Find the distance traveled by the balloon during the interval. 
30. Draw ‘less than’ and ‘more than’ ogive curve from the following and indicate the value of median.

	Marks
	No of students (f )

	0-5

5-10

10-15

15-20

20-25

25-30

30-35

35-40
	7

10

20

13

12

10

14

9
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